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AN - I (PART -1I)

[3]

[A]

99 9% 9 fRNS (CHILD DEVELOPMENT & PEDAGOGY)

3T : Rl 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

1.

[P

|

Th JH s qae, e ges
& HISAE WY HA: Sal & quT T9Y
Hh AT Bl & ¢

[1] smisses aderT

[2] stierT aierer

[3] T qeror

[4] Foaes aderer

e N e B N e | I E G
fafe divear wX A feniiE & 8ie
e, Al fawd & AT wHH

TR T & e & SR @
GEq & TiafafeEt & SYEET @ ©

[1] Sg-8adl e
[2] & forerer

[3] Hedrl AR
[4] AR AR

cav o) M | s [ M 1 oo b M | G [
e & g IUNH F G B 7

[1] SR IarH

[2] T SUFMH

(3] 9 FafT S
[4] ANl SURH

Level-3/909

[~

|

1.

A type of intelligence test in which
the difficulty level of questions
gradually increases and the time
factor is secondary :

[1] Verbal Test
[2] Power Test
[3]".Speed Test

[4] Performance Test

A teaching-learning strategy in

which small groups of students with
different level of ability use a variety
of learning activities to improve their
understanding of a subject :

[1] Multi-sensory learning
[2] Team teaching
[3] Co-operative learning

[4] Programmed learning

of
to which

Spranger's classification

personality is related

approach of personality assessment ?
[1] Trait Approach

[2] Type Approach

[3] Instinct Approach

[4] Psychoanalytic Approach



[A]

4. f=fifeg & @ a9-o felRE &
D NS WA B T 787 8 7

[1] I g § &
[2] Sl | S
[3] SO et T WAl &1 &

[4] oraifed et &

‘S T B MU HIA-far ) i
g § ommd &ar §, @ a8 o1
P ST Bl A T Fhe FX aal &I’
7€ fhd TH &l TSR o & Th
I § 7

[1] &4 [2] SfcRTA

[3] w&9er [4] fereamos

s & deme fem Reid @
APER, ‘GEHHD G Bl T
T 31, SN Rl HEIS HdeR
3 fharae ¥ "ag @Rl /) awean
-

[1] 9es yafed  [2] oSt
[3] @i [4]. G
‘T g @ AR &R | G %
Y T B B I B &9 A
qRE R ST @ © — Ha a@l
ded, 3 [ER 9 udhipd &, 39
TP OIR 36 JaEfa &
HTo® el I8 qRA fohee A
g ?

[1] Fad Mane

[2] AFX w§ dieX &alld

[3] X wd =g

[4] BTeaREd

|

|®

[~

Level-3/909

[4]

4. Which of the following is not a
symptom of good mental health of
students ?

[1] Living in fantasy world
[2] Balance in life

[3] Knowledge of our potentials and
limitations

[4] Free from undesirable worries

'When an adolescent is unable to

g

show anger to his parents, then he
shows ~his vanger to his younger
brother." This is an example of which
type-of defence mechanism ?

[1] Repression [2] Regression
[3] Projection [4] Displacement

According to Piaget's Cognitive

|®

Development Theory, 'The basic unit
of the cognitive structure that helps
in the implementation of cognitive
behaviour', is termed as :

[1] Reflexes
[3] Schema

[2] Basic Instincts
[4] Conservation

"Emotional

[~

Intelligence may be
defined as the capacity to reason with
emotion in four areas — to perceive
emotion, to integrate it in thought, to
understand it and to manage it."

Who this

emotional intelligence ?

gave definition  of
[1] Daniel Goleman

[2] Mayer and Peter Salovey

[3] Peter and Michael

[4] Halverson



[5] [A]

8. F=fofed & 9 f9-90 AR HIGT 8. Which one of the following is not a
B T gy Ay F8F R ? direct method for measurement of
(1] @R (2] SAT E[‘f]i“;df L 2] Project
> nterview rojection
[3] st 4] [3] Questionnaire [4] Observation
9. TH Eh% B UMl B U AT ST Gehdl 9. 'A horse can be brought near water,
g, forg U & o s W fpem S but cannot be forced to drink." This
qadll’ I8 I ’ﬁﬁ@%‘cﬁ ® 9ed & statement reveals the truth of
fpe oM %I T T BT © 7 Thorndike's which law of learning ?
[1] e &0 5= [1] Law of Readiness
[2] =9 &1 [2] Law of Exercise
[3] 999 & | [3] Law of*Effect
[4] sEdfcishar &1 fEm [4] L.aw of Multi Responses
10. fHfcRgg & 9 HIFA-AT QT B '] 10. ‘Which of the following is not a level
TE e ? of teaching ?
[1] STET &} [1] Basic Level
[2] Hfq &) [2] Memory Level
[3] M@y &R [3] Understanding Level
[4] i &) [4] Reflective Level
11. =ffed & 9 HF-A1 ST & 11. Which one of the following is not a
it o Rrsia & el R ? part of Bronfenbrenner's Ecological
System theory ?
[1] w3kl foeeq [1] Micro system
[2] Bt foreew [2] Macro system
[3] A=Y fred [3] Minor system
[4] 9ar faeed [4] Meso system
12. G Ug qd El?{i%f & g4 ¥ -4 12. Which pair is not correct with reference
W GEl 7e g7 to emotions and basic instincts ?
o T TgR Emotion Basic Instinct
[1] g - ﬁ@_ﬁf [1] Anger — Repulsion
[2] SAEeER - T [2] Ownership - Collection
[3] sng=d —  foEm [3] Wonder —  Curiosity
[4] 9T - q@Ed [4] Fear —  Escape

Level-3/909 P.T.O.



[A]

ERI U Gl SN CE A TG M|
BIF-81 TH s UG § 7

[1] QiR W ==

[2] FESTs qedi W Fee SieEi
[3] EHfeeh TafafEr 1 SR

[4] @mfoTs Hedgl T gares

I % AEEERAl R e @

AR, ‘HHM & AR (b
U Pl AR & °

[1] R

[2] |mMISTS

[3] Sifs®

[4] HaTET®

frfefag & @ #9-@r S
Ngal B YOHTHEAT qOEeT § gefd
& =7

[1] STETER I dedl H
[2]3:?%#@%%@@?%14&%

[3] IR guR G4 P

[4] 981 T ST el deidt P

fr=fofeg & @ ®F-91 Fu99 Jgas
fafrTarel & ded & @& &8 ?

[1] ®F & & = gl &9 F T8
B T

[2] Jafs o errT-or &t
O GeEfd & gl 2

[3] Jafre fafra faem & e
MM N g B

[4] FafEs el &aw
SATERTET & HROT IAH BRil B

Level-3/909

[6]

Which way is the most appropriate
for social development of
adolescents ?

[1] Discussion on socialization
[2] Essay competition on social values
[3] Organizing group activities
[4] Documentary on social relations

According to Maslow's Need
Hierarchical theory, 'Esteem Needs'
are which type of need ?

[1] Personal
[2] Social

[3] Intellectual
[4] 'Emotional

Which of the following task is not

related to Bager Mehdi's test of

Creativity ?

[1] Unusual uses related task

[2] New relation between pairs
related task

[3] Product
task

[4] Ask and guess related task

improvement related

Which of the following statement is

not correct with reference to

individual differences ?

[1] No two persons can be exactly
alike.

[2] Individual differences  may
belong to different areas.

[3] Individual differences affects
different dimensions of
development.

[4] Individual differences arises

only due to heredity.



17.

i AEFAT W AT 4y &
S B He S o ¢

NEEENE [2] gsad
3] T [4] 3TESi®

W Heet & e g o§ od
PTG A< HH &G GaT© 7

[1] g iR e

[2] SieT MR g

[3] G AR T

[4] S AR e

Presig sl & gar, e |
q B9 Y& H TH TER ToT S ¢

[1] RQYomTeds  [2] GoAEs
[3] difoen [4] e
Fleae & HEATaR, 8 A &R

P At €, 99 AfiedlH -
Afve forsia afafad 2 9 & ?

[1] gE-®feT

[2] e

[3] SR-EIET

[4] 9 | Bi5 T

21. Hfefad § @ -9 fearmEen #

U e S 78R 7

[1] J& ST &I STaeer &

[2] IE STATEIRAST I ST
[3] IE TEAN & @S # 999 &l
[4] 98 ATRA H B 2

Level-3/909

[Z]

9. According

[A]

17. Who 1is called the father of Trait

Theory for study of personality ?
[1] Allport [2] Woodworth
[3] McDougall [4] Eysenck

Which of the following pairs of
communication skills is correct for
receiving the information ?

[1] Listening and Writing
[2] Speaking and Reading
[3] Listening and Reading
[4] Speaking and Writing

to Triarchic Theory,
which of the following is not a type

of intelligence ?
[1] Analytical
[3] Theoretical

[2] Creative
[4] Practical

According to Kohlberg's theory,
what level of morality is it, when
includes

morality self-accepted

moral principles ?
[1] Pre-conventional
[2] Conventional
[3] Post-conventional
[4] None of these

21. Which of the following is not a general

characteristic of adolescence period ?
[1] Itis a transitional period.
[2] Itis period of unrealism.
[3] Itis time for search of identity.

[4] Itis the threshold of puberty.

P.T.O.



[A]

22.

Al AhAT B TR ey
weer  fees g faeta e
™7

[1] M & 9F =

[2] S

[3] emgelss

[4] e wd ded

23. 99 T% MiEd d@n ¥ yfaseael &

& & ARG H JAEAH e
fer Smar 2, @ g8 fRE v @
g STEE © 7

[1] fHig= st

PR EERERISRERRIG]

[3] FiYEa ofaa

[4] uREcHelid Sfaaa

et & wfe faem  RsamEr,
fepSMrareen & -

[1] Sfces arafasman. @l erawen
[2] 3S1@ @l Afcewar i staen
[3] T AfrBT @i STae
[4] @R A B T

25. MHRad § @ S-91 dRE ST

P TFHRETH & THIGT Bl & 7
[1] PN fawesyg
[2] GRYEAT i A
[3] SARERET & HH

[4] GerToRs Hiagfe

Level-3/909

[8]

22.

25.

Who the
Apperception Test for personality

developed Thematic

assessment ?

[1] Murray and Morgan
[2] Bellack

[3] Eysenck

[4] Allport and Cattell

What type of reinforcement schedule is
it, when reinforcement is provided to
the learner only after a certain number
of responses ?

[1] tFixed ratio

[2] Variable ratio
[3] Fixed interval
[4] Variable interval

According to the moral development
theory of Piaget, adolescence period
1S :

[1] Stage of moral realism

[2] Stage of morality constraint

[3] Stage of heteronomous morality
[4] Stage of autonomous morality

Which of the following factors
positively affects learning ?

[1] Meaningless content
[2] Lack of maturation
[3] Lack of motivation

[4] Informational feedback



26.

N
]

fed G| 9= BF AU B e
P 51 T8 T SR ©

[1] otfaRe SRR &

[2] & SARERET &

[3] SoTa STFEREm &

[4] T @ B T

2. UH 15 a9 & g H gfE qled

Brfl, STafh Ie AR oy 128 7

[1] 80 [2] 90
[3] 100 [4] 110
s e & w9 § o9 foEnRiar &

SRR Eo I B CCor BTSN |
Frefafad & @ He-a1 F- 78f ST 7

[1] Asa @ e

[2] 9T & G B

[3] ufcifsran @t e
[4] FTErl RidT 1 aEr

29. @ S ‘&= @ R $ S0 e &,

FHEAT © :

[1] Rdfees @ied

[2] MrEEieed

[3] 9@

[4] g™

T T I 5 TR H ARERE © 7

[2] et
[4] QIS

[1] s=a
[3] ST

[91]

[A]
Rohit helps others to get praise. This
is an example of :
[1] Intrinsic Motivation
[2] Extrinsic Motivation
[3] Innate Motivation
[4] None of these

What will be the
quotient of a 15 year old boy, when

intelligence

his mental age is 12 ?

[1] 80 2] 90

[3] 100 [4] 110

As a teacher which of the following

work would not be done by you to
develop the creativity of the students ?

[1] Encouragement of originality
[2] Removal of fear

[3] Freedom to respond

[4] Avoidance of divergent thinking

Development which proceeds from
'centre to the periphery', is known as :

[1] Cephalic Caudal
[2] Proximodistal
[3] Spiral

[4] Circular

30. Hunger and Thirst is which type of

motive ?
[1] Extrinsic [2] Acquired

[3] Intrinsic [4] Social

Level-3/909



[A]

[10]

[T - II (PART - II)
A1 (B g 37SH) [LANGUAGES (HINDI & ENGLISH)]
f&=<t (HINDI)

3 : R 797 % Go7 &7 & [T qag ST [dwey g

31. WiEEEl @ 3 ¥ orgm e

gﬁﬂ'{ :
[1] T - @9, deTREe,
e
2] ™ - dq4, HEM, FH
[3] TR - Heldeatl, IR,
agren
[4] =M - ¥R, IR, MU

32. 9 feq § foamEe 9= ™ & 5T

g R 7

[1] &5 ST %M @F HT ey
[2] A dfT gEIRy, Sk e R

[3] &9 8l &1 FB &l e bl
[4] ST A, S B A

33. ‘UMl gU-9 Il B dEd |

fohe U & FRET-faSiver @1 JERT gam
g7

[1] IaTe
[2] dfqars
[3] GRHATEES

[4] TS

Level-3/909

34.

qugd s =l & oad ST &
3ftc § 7 9F ® ¢

[1] €& - 38 dfed; =8 - de
(2] g3 - T AT - A
(3] el =, Feb; Gl - geaarg
[4] @SH - &Y; S9o1 - gl

5. G T @a d@ R aqw A

R ‘AT 9 diE-6 65 &
JETEI B 7

[1] YeEars qs1

[2] STicErEes |l

[3] WEaTES HEll

[4] HieTarerh Hl

36. FTH { BHI-G1 A FYH & ?

[1] TR R qE9 3
2] &7 & & A= geaand ¥

[3] 98 Ufa & ST IAR @ 2
[4] S & ST G W T B

37. 9 9= § % ¥ oY% SUTN @

ST e & 7
[1] Sty [2] v
[3] STgeH [4] =ty



38. U &l gfe § oG faehed T

[1] FThaaT -  HHEE
[2] QfERE - @Yoy
RIEIRE - I
[4] 3Ts - iR
39. T ey o foerl @ &1 sEnT gan
g7
[1] FffsY
2] Tags
[3] TR9RsT
[4] fFegX

40. =R H UILHH B ghe § ‘w@T
g% T 9 9 9 & e A 7

[1] &
[2] 9™
[3] <X
[4] =ffeb
41. foone @ gt ¥ o7@v [T T
[1] SR - AR
2] 9@ - StHE
[3] & - g
[4] @1 - TSET

[11]

[A]

42. =9 § &9 9= ¥ ‘oMET U @

ST 78 AT § 7
[1] TRiee [2] HelEe
[3] gTEe [4] TXEE

43. THRI FH e F @ o0 B ISR

T B
[1] TS
2] gei

[3] a1
[4] &1

44, Y 9= § M @A B

[1] st
PAREII]
[3] ugE
[4] 9T
45. ‘TEH-TEHT H 3T W FGIT [
g
[1] dmem - - dEel
2] &9 - Tl
[3] oo - TR
[4] 76 - "

Level-3/909



[A]

46.

50. Arrange

The word 'garrulous’ means :

[1] talkative [2] abusive

[3] violent [4] abundant

the following jumbled
options in the correct order and then

choose the correct option :
(1) too many
(iii) the broth

(i1) spoil
(iv) cooks
[1] (), (v), (ii1), (i1)
[2] (1), (iv), (i1), (ii1)
(3] (1), (iv), (i1), (1)
[4] (v), (i), (1), (ii1)

51. Fill in the blank with the correct

option :

Let us stay here, whileit ........... .
[1] is raining

[2] was raining

[3] has been raining

[4] had been raining

[12]
3Rl (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option.
Which of the following options 49.
express the correct meaning of the
sentence given below ?
He is too cute to overlook. 50.
[1] He is too cute and he can be
overlooked.
[2] He is too cute but he can be
overlooked.
[3] He is so cute that he cannot be
overlooked.
[4] Although he is not cute, but he
cannot be overlooked.
41. Change the narration :
Kavin said to Mr. Cowper, "Please, 5.
be kind to me."
[1] Kavin requested Mr. Cowper to
be kind to him.
[2] Kavin requested Mt. Cowper to
be kind to me.
[3] Kavin asked Mrs Cowper to be
please kind to me.
[4] Kavin asked Mr. Cowper that he
must be kind to him.
52.

Fill in the blank with the correct
form of verb :

You had better
hands before you eat.

[1] been washing
[2] washing

[3] washed

[4] wash

Level-3/909

52. Choose the part of the sentence that

is grammatically incorrect :

The thief took towards/his heels/on
seeing/the Police-van arrive.

[1] The thief took towards

[2] his heels

[3] on seeing

[4] the Police-van arrive.



53.

Choose the part of the sentence that
is grammatically incorrect :

He has committed / a blunder /
mistake / today morning.

[1] He has committed

[2] a blunder

[3] mistake

[4] today morning.

Fill in the blank with the correct
form of verb :

Neither you nor she ............. made
the mistake.
[1] have [2] has
[3] had [4] did

55. Fill in the blank with correct ‘Modal
Auxiliary' :
Passengers ............ not walk
across the railway line.

(Prohibition)

[1] should [2] can
[3] need [4] must

56. Choose the correct passive of the

given sentence :
Did he kill a lion ?

[1] Did a lion killed by him ?
[2] Was a lion killed by you ?
[3] Was a lion killed by him ?
[4] Had a lion been killed by you ?

[13]

[A]

57. Fill in the blank with the correct

option :

Mr. Sudhir Soni is ........... R.A.S
Officer.

[1] an [2] a

[3] the [4] x

58. Fill in the blank with the correct

option that completes the idiom :
A rolling stone .......... .

[1] carries rough winds

[2] kills.no one

[3] gathers no sauce

[4] gathers no moss

59.¢ Fill in the blank with the correct

option :

When Monisha reached the bus
stand, the bus ........... .

[1] was already left

[2] had already left

[3] already left

[4] has been already left

Which of the following sentences is
the correct option to express present
perfect continuous tense ?

[1] Mr. Mehta has been waking for

2 O'clock in the morning.

Mr.
since 2 O'clock in the morning.

[2] Mehta has been waking

[3] Mr. Mehta has been waked since

2 O'clock in the morning.

Mr.
from 2 O'clock in the morning.

[4] Mehta has been waking

Level-3/909

P.T.O.



[A]

[14]

- III (PART - III)
9 1999 (GENERAL STUDIES)
TR AT, i SIMEHAT o G &9 U9 ST¥EIM (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS)

3T : R 797 % o7 &7 & [ qag ST [4wey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

ed & g9 X JAY &l B -

TR W TE Ys 2l A Y H WeRr
X M@, @Y & Ye
g Remd & 7

[1] ST
[2] &RroT

3] @@
[4] UiS=™

62. @ , FRE R 30 @ o B

feam & 3 €2 ®, wafh amwl 4.5 g2
T FA 2 AR gW @ oA 3, R
gy der B, @ NG 9 H A9 el
T B -

[1] 10 febHt ufer geg
[2] 12 Tt ufe et
[3] 13 febHl uifer ger
[4] 15 TebHl et ger

10.5 841 Bear & Th Gig Hqen
fgares, 3.5 @4 Brewr qanr 3 &
e A B2 B gige § e R
ST &1 TedER, 39 JHR 99 o B
g f el ?
[1] 112

[3] 132

2] 126
[4] 138

Level-3/909

61.

X and Y are facing each other at
sunrise. The shadow of Y is falling
towards right of X, then Y is facing
in which direction ?

[1] North
[2] South
[3] East
[4] West

A Dboat covers a certain distance

downstream in 3 hours, while it
comes back in 4.5 hours. If the speed
of the stream be 3 kmph, then the
speed of the boat in still water is :

[1] 10 kmph
[2] 12 kmph
[3] 13 kmph
[4] 15 kmph

63. A metallic sphere of radius 10.5 cm

is melted and then recast into small
cones each of radius 3.5 cm and
height 3 cm, then the number of
cones thus formed is :

[1] 112 [2] 126
[3] 132 [4] 138



64.

I P TR AP Thdls ST @
MR T 3 Iu H THIE AN

aﬁw%ws‘rw,a‘rwaﬁ
e X & :

[1] 16%%

1
2] 33-%
(2] 333

[3] 33%
[4] 50%
1865 @l & &/, 660 AsH T
g X 1305 =<1 99 & F,
120 =Rp a9 & § $s ft A

aid @R E, @l e
et Tl § 7

[1] 220
[2] 440
[3] 120
[4] 1085

44 3

3 >

:

66. TG P HUT T 20%. & FA B AN

W &F AEH 800 &9 ¥ 12.5 TR
AT SgE @8 adl 3, d =9Ed &
gq P gf e e B 7

[1] 1259 [2] 14 593
[3] 1559 [4] 16 59

61. [T9ON & TH JATHA H [OHN,

R BT 12 A T AR HOS
T Bl AR SEH AVES 36 &, A 9
g

[1] 2726
[3] 2796

[2] 2736
[4] 2826

Level-3/909
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64.

[A]
If the amount is 3% times the sum

after 3 years at compound interest
compounded annually, then the rate
of interest per annum is :

2
11 16=2%
1] 162

1
2] 33-%
(2] 333

[3] 33%
[4] 50%

65. Out of~1865 people, 660 can speak

English.and 1305 can speak Hindi,
but 120 persons cannot speak either
language, then how many persons
can speak both languages ?

[1] 220

[2] 440

[3] 120

[4] 1085

A reduction of 20% in the price of rice

enables a customer to purchase 12.5 kg
more for Rs. 800. The original price of

rice per kg is :
[1] Rs. 12 [2] Rs. 14
[3] Rs. 15 [4] Rs. 16

In a division sum, the divisor is 12

times the quotient and 5 times the
remainder. If the remainder is 36,
then the dividend is :

[1] 2726 [2] 2736
[3] 2796 [4] 2826



[A]

68. T UT 1 ST U ST HIOT :

Z1A,X2D, V6G, T21J, R88M, P445P, ?
[1] N2676T
[2] T2670N
[3] N2676S
[4] M2670S

69. fhdl Hemm @ 5, 9, 13 4 fowlm

H U HEM: 2, 6 A 10 A A
T U w99 B e ®

[1] 602 [2] 592

[3] 572 [4] 582

uh FREd f 9 § "PARTICLE"
@ "USBQFMDJ" @I "GENERATE"
@ "FOFHFUBS" fer@r e 8, & g6t
M T 99 ", "DOCUMENT" &
for@r ST -

[1] VDEPUOSF
[2] VDPENFUQ
[3] VDPEUOFEFN
[4] VDPEUOSF

71. dF 7ol P, Q @R &1 T % 5 H

T 9RaT 31 79 R,

Level-3/909
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68. Find the next term of the following

series :

Z1A,X2D, V6G, T21J, R88M, P445P, ?
[1] N2676T
[2] T2670N
[3] N2676S
[4] M2670S

69. A number when divided by 5, 9, 13

2, 6 and 10
respectively. The least such number is :

leaves remainder

[1] 602 [2] 592
[3) 572 [4] 582
In~ a certain code language

"PARTICLE" is  written  as
"USBQFMDJ" and "GENERATE"
1s written as "FOFHFUBS", then in
same code language "DOCUMENT"
will be written as :

[1] VDEPUOSF
[2] VDPENFUQ
[3] VDPEUOFN
[4] VDPEUOSF

71. A tank is filled in 5 hours by three

pipes P, Q and R. The pipe R is
twice as fast as Q and Q is twice as
fast as P. How much time will pipe P
alone take to fill the tank ?

[1] 22 hrs
[2] 25 hrs
[3] 30 hrs
[4] 35 hrs



12.

W3+l
I X
(> +y?) &1 A9 ¥

aar y= ,ar

[1] 14 2] 12
[3] 13 [4] 16

qefEal @ uh uRe H, A I o 9
103 T WX qar B It oiX @ 144
WM W ¥, 3% 3 oo Raferl e
geq ol §, ar A 9@ e § 243
WM W & I g, ue § asfea @
He e & °

[1] 31

[2] 33

3] 37

[4] 39

14. TF THTER TF & B 15% @9 I

ST 8, OFR IE9 I 18 U &1l
9 S B, A IEE A 18%. &
Sl 39 a&] 1 H9 Jh-(%o 9) © ¢
[1] 360
[2] 540
[3] 600
[4] 640

T e SEE 9000 B, A gESt
P TEEAT e W 5% SR wieanst
P FghE W 8% o T TH Ty A
SHEA 9600 B, o JeSl &l e
g

[1] 3000

[2] 4000

[3] 5000

[4] 5600

Level-3/909

[A]
J3+1 \/5—1
If x= and y= , then the
J3-1 N
value of (x> +y?) is :
[1] 14 [2] 12
[3] 13 [4] 16

13. In a row of girls, A is 10th from the

left and B is 14th from the right. If
they interchange their positions, A
becomes 24th from the left. How
many girls are there in a row ?

[1] 31
(2] 33
[3] 37
[4] 39

A shopkeeper sells an article at 15%
gain. Had he sold it for Rs. 18 more,
he would have gained 18%. The cost
price (in Rs.) of the article is :

[1] 360

[2] 540

[3] 600

[4] 640

75. The population of a town is 9000. If

the males increase by 5% and
females by 8%, the population would
be 9600 in a year. The number of
males is :
[1] 3000
[2] 4000
[3] 5000

[4] 5600



[A]

D,CTME & @ 8, A, E & otfe
T Rl 8, C, AQ T, D, B A
A @ WE T, A T ¥ BN
qaq T B 7
1] A
[3] C

[2] B
[4] D

11. TF TSH & BEU® H AKX G

XA BT X ¥ %l i ‘g8 A & S
% IR P B qSH &7, A T
X | g TR d@dg 8 ?

[1] fo 2] «E

[3] =1 [4] T

Ueh A 391 Al ermel g4 § uf¥em
H SR ST W@ & T I q ST
&R & T I B, A ST gIAr BE
fesm & S ?
[1] So-To
3] To-Yo

fr=1 g aoft 1 e e R

[2] So - Jo
[4] S0 -Yo

3,13, 22, 32,59, 69, 120, 130, ?
[1] 201 [2] 211
[3] 227 [4] 232

80. 9 HiUH HEeT H AEI n B, AL ITH

A T @S B MEA B R
S, F S S b @ S ?

[1] @& 99 &
[2] 1% gfa &rl
[3] 1.5 @I gis erft
[4] 2 @t ghs eFf

Level-3/909
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16.

D is taller than C and E. A is not as
tall as E. C is taller than A. D is not as
tall as B. Who is the tallest among
them ?
[1] A
3] C

[2] B
[4] D

71. Pointing to a girl in photograph, X

said "She is the daughter of my
grandfather's only son". How is the
girl related to X ?
[1] Father
[3]-Sister

[2] Brother
[4] Mother

A steam engine train runs from east to
west and wind is blowing from north to
south, then the smoke from the train
would blow in which direction ?

[1] N-W [2] N-E
[3] S-E 4] S-W

79. The next term of the following

number series is :
3,13, 22,32,59, 69, 120, 130, ?

[1] 201 [2] 211
[3] 227 [4] 232

The average of nine consecutive

numbers is n. If the next two

numbers are also included, the new
average is :

[1] remain the same
[2] increase by 1
[3] increase by 1.5
[4] increase by 2



8l1.

BRATT & o W ® AR

IR 9 & ded (IR I & &9

¥ arfergfe fear T © 7

[1] gOMYR TSE a3 HeEm™
FeNg ARG

2] O TEF SgF SR GuRarq
FeIg ARG

[3] EX g9eild TR &R &R
T g eila A9IRTY

[4] SGMEX  TIOE  AWEARTG ¥R
TIA-EI-3dM a=Ieild STHIRYY

82. ifhd FeMi W fa=aR R :

() eRAmm § omgE Hen o @l
T a¥ 2002 F #t ot

(i) =Y W O eRAen U @
T Sliehrger €|

[1] 39 (i) T 2
[2] daa (ii) & B
[3] ()W (ii) S &Y 2
[4] ()T (i) AT T 2

83. BRAM & fFE X B & o ax

BRI % &9 | S S B 7
[1] J&IH
[2] HFHT
[3] T
[4] Tt

Level-3/909
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81.

[A]

Which places of Haryana have been
notified as Ramsar site under
Ramsar convention of UNESCO ?

[1] Sultanpur National Park &

Bhindawas Wildlife Sanctuary

Park &
Khaparwas Wildlife Sanctuary

Kalesar National

(2]

[3] Nahar Wildlife Sanctuary & Bir

Shikargarh Wildlife Sanctuary

[4] Abushahar Wildlife Sanctuary &

Khel-Hi-Raitan Wildlife Sanctuary

82. (Consider the following statements :

(1) The institution of Lokayukta was
established in Haryana in the
year 2002.

(i1) Justice Pritam Pal was the first

Lokayukta in the State of

Haryana.
[1] Only (i) is correct.
[2] Only (ii) is correct.
[3] Both (i) and (ii) are correct.

[4] Both (i) and (i1) are incorrect.

83. Which of the city of Haryana is

known as the 'City of War Heroes' ?
[1] Gurugram

[2] Sonipat

[3] Panipat

[4] Bhiwani



[A]

84. M F FHMEGd ©Rel H 9

86.

fre g @i ® RS @ g urd
g7

(i) G TG F THIA
(ii) S AR dras

(iii) HrRAr HfY B
7& HE F T HIT
[1] (i) &R (i)

[2] (ii) X (iii)

[3] () A (iii)

[4] (i), (i) & (i)

85. BT % oMM &R F Sy

giaegrett &1 fae w9 & fog e |
q D der FRRR B 7

[1] BRgH

[2] &1

[3] CHUHARATEEH]
[4] Rt ST &=

Frefefed & @ a9 eRaem &
T % &R g 78 & 8 ?

[1] REmT & gegus
[2] U9 TG ERAOT I <AEFed &l
T

[3] eRAOT @6 "AT SN W
S

[4] eRATT AFEEER SRR H 95

Level-3/909
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84. Which of the following monuments

of Haryana have the status of State
protected monuments ?

(i) Sheikh Tayyab's Tomb

(i1) Shobha Sagar Pond

(i11) Bhimadevi Temple Complex
Choose the correct code :

[1] (1) and (ii)

[2] (ii) and (iii)

[3] (i) and (iii)

[4] (@), (ii) and (iii)

85. Which of the following institute is

86.

responsible for the development of
infrastructure facilities in industrial
areas of Haryana ?

[1] HARTRON

[2] HUDA

[3] HSIIDC

[4] District Industries Centre

Who among the following is not

appointed by the Governor of

Haryana ?
[1] Chief Minister of Haryana

[2] A Judge of Punjab and Haryana
High Court

[3] A member of Haryana Public
Service Commission

[4] A member of Haryana Human
Rights Commission



81.

IR TP 1 o A 0 | = e
B T AABIE o7 ?

[1] T G&T it
[2] STogE ol BTl
[3] 4l &l Hed
[4] 1Y TTAR

RN Y8 9 AT & AR A

fFfaiaa ®aAl @l afeg ¢

(i) I8 A9 9RO B T THE D
w1 f Rfd & & ok W
BRAOT % GHE URERl B Th
fasaeg  Ae-ontds  Sered
TR K @ 2

(i) 9% URAR H TH S bl Hl
fodeeT aRaR UeAM  STEfed @i
W W@ ? SR yeEm (ID). #
S, gg W Jdied. Naed &
ST S|

(iii) AR TeaM Se@d H Suqe ST
& SN faT Heaoep FioTist
¥ @ 9 3g B Smam @R
ROt # @d deel & [

S A Pl STAIHA 18] Rl
7& FT B T HIOT
[1] Faq (i) & B
[2] () o (i) @& &
[3] (i) &N (iii) &
[4] (i), (i) 3N (iii) @& |
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81.

[A]

Who among the following Governors
of Haryana was a civil servant ?

[1] Muzaffar Hussain Burney
[2] Jaisukh Lal Hathi

[3] Dhanik Lal Mandal

[4] Babu Parmanand

88. Read the following statements about

'Parivar Pehchan Patra Yojna' :

(1) This scheme identifies family as
awunit and is creating a reliable
socio-economic database of all

the families in Haryana.

(i1) An eight digit unique family ID is
being issued for every family and
the ID will be linked to birth,

death and marriage records.

(ii1)) The data available in family ID
database will be utilized to
determine automatic verification
for various welfare schemes and
families will not be required to

apply themselves for benefits.
Choose the correct code :
[1] Only (ii) is correct.
[2] (1) and (i1) are correct.
[3] (i1) and (ii1) are correct.
[4] (1), (11) and (1i1) are correct.

P.T.O.



[A]

9.

g & T % §99 H

fr=ifeiiea wuei W foar ST -

() T& eI = [eafEE @
FHaeR Bl

(i) 98 T & Fel & TH & 95 @l
gRT HY b Bl

(ii)a& =heqd T HE  aEEd,
BRATOT [T IR B ST B

(iv)32 Giea & o= B
wiaaag afd o< =&

S | DE-AUA I 78 ofs !

[1] @), (i), (iii) R (iv)

[2] (i), (iii) 3T (iv)

[3] ®aa (iii)

[4] (ii) R (iii) ST

gaen ¥ @ 99 oY TS |l &
g 2 :

[1] 73R 4

[2] 103X 4

[3] 103X 5

[4] 123X 5

[22]

89.

Consider the following statements

regarding the Governor of Haryana :

(1) He is the Chancellor of Central
University of Haryana.

(i1)) He can hold any office of the
profit in the State.

(ii1) He is the President of Indian Red
Cross Society, Haryana State

Branch.
(iv)He does not have any
discrétionary power  granted

under the Constitution.

Which of the above statement(s)
is/are correct ?

[1] (1), (i1), (ii1) and (iv)
[2] (i1), (ii1) and (iv)

[3] Only (ii1)

[4] Both (ii) and (iii)

90. The Lok Sabha and Rajya Sabha

seats in Haryana are :
[1] 7 and 4

[2] 10 and 4

[3] 10 and 5

[4] 12 and 5

Level-3/909



[23] [A]
[T - IV (PART - IV)
TN (GEOGRAPHY)

3T : R 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

91. e ¥ 9 - {ﬁﬁlﬂ 7 91. Which one of the following is not
g7 matched correctly ?
TaA SART ©& River Originate place
[1] AR - o feme [1]' Sharda —  Milam Glacier
[2] =& - IIN?H_g‘ﬁ IREEES [2] Ghaghra —  Mapchachungo
Glacier
[3] @™ - BT & [3] Jhelum — Rohtang Pass
[4] AT = Y did [4] Satluj — Rakas Tal
92. 'HITEH HETErYq € ¢ 92. 'Kayaks' are associated with :
[1] TRep STl & [1] Eskimo Tribe
[2] i St & [2] Pigmy Tribe
[3] YO ST @ [3] Bushman Tribe
[4] gt St & [4] Khirgies Tribe

Level-3/909 P.T.O.



[A]

93. fHiaRad § & H9-91 TH U T8

T ?

[1] #icdrs

[2] 99

[3] SEIAFTHR
[4] A= wIHETS

‘S S R S B
[1] i oo &)
[2] =T el &R

[3] oI SISl &M

[4] e 9o &N

o5. Freffad sieReiel & @ Ree

“giplas  qg@’ Y& W HaAuEd
M= I e o ?

[1] Xeo

2] &iIee

[3] B

[4] ST X

Level-3/909
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93.

95. Who

Which one of the following is not an

equal area projection ?

[1] Mollweid

[2] Bonne

[3] Polyconic

[4] Sansoen flamsteed

'Transhumance' is done by :
[1] Bhil Tribe

[2] Toda Tribe

[3] Gujjar Tribe

[4] Gond Tribe

among  the following

geographers firstly formally used the

term "Cultural Landscape" ?
[1] Ratzel

[2] Humboldt

[3] Hagget

[4] Otto Schluter



96. YT & &g ol a1 TS
TR (N, H.) @i9-a1 & ?

[1] NHS5
[2] NH 27
[3] NH 15

[4] NH 47
e
[1] d=u
[2] EfdTed
[3] Yo
[4] SfE

98. 10 &3l =9d ST &l 8 ¢
[1] #R FeRER X HAEar D9 &

[2] @G ofveAM iR Rl SveAM
I

[3] SO0 AveHM oI Rl ervemm
&

[4] Tg TUSHM AR HX FHER A

Level-3/909
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[A]

96. Which is the second longest National

Highway (N. H.) of India ?
[1] NH 5

[2] NH 27

[3] NH 15

[4] NH 47

97. The Book "Territorial Growth of

98.

State' was written by :
[1] Semple

[2] Huntington

[3] Ratzel

[4] Davis

Ten Degree channel separate :
[1] Car Nicobar and Camorta Island

[2] Little Andaman and South

Andaman

[3] North Andaman and South

Andaman

[4] Little Andaman and Car Nicobar



[A] [26]

99. 9RA I F=foled o aestenelt (I 99. Which one of the following Oil
ReETd) & & M@ &3 79 W Refineries of India is mot a Raw
TR (STafed) Od ReRTd 78 & 7 Material Based (located) Refinery ?
[1] FAwirTE [1] Numaligarh
[2] T [2] Noonmati
[3] & [3] Haldia
[4] il [4] Koyali

100. F=fafag & @ @F-AT {ﬁﬁlﬂ 7 100. Which one of the following is not

T ? matched correctly ?
ey ARSI Race People/Tribe
[1] B - R [1] Nagrito — Pigmies
[2] AMzs - A [2] Mongoloid - Eskimo
[3] AfeRfem -~ fawlst [3] Mediterranean — Khirgies
[4] S - T g [4] Nordics — North European

101. FefRed & & SF-61 JSedt JaT & 101. Which one of the following is a

JETET ® 7 example of Pedalfer soil ?
[1] qeEe [1] Laterite

[2] il [2] Black

[3] Siedle [3] Alluvial

[4] TSfomT [4] Rendzina

Level-3/909



102, “TMT 0 RO @& Mera &

I &

[1] fefemam

[2] 7

EIRGRSS

(4] BT

SOMT - 2011 % SYER ARG &
Frefoied & @ Ree Tow/@=maiad
Yo & ST SFggfed Sl &1 Helifdh

gfeerT T@e § 7

[1] HEmed e erE]
[2] Feiea e Terd
[3] TS e AEEY
[4] FeIRe @ ARTeS

o @ @ e g @t SO @
TMie W e R S R

[1] T IOl R
[2] BT &N

[3] T SR &N
[4] &= "% &0

Level-3/909
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102.

104.

[A]

The concept of ‘"rural urban

continuum" was given by :
[1] Dickinson

[2] Murphy

[3] Robert Redfield

[4] Scott

As per.Census 2011, which pair of
the following States/Union territories

have maximum percentage of

Scheduled tribes in India ?

[1] Meghalaya and Lakshadweep
[2] Mizoram and Lakshadweep
[3] Nagaland and Lakshadweep

[4] Mizoram and Nagaland

The altitude of a point from sea level

shown on a map is called :
[1] Layer Colouring

[2] Hachures

[3] Spot Height

[4] Bench Mark



[1] X — 99 — alegg —
HEICRIT]

2] 98 — B — f@fegg —
RIS

[3] BMY — 9 —> IERFN —
fepfead

[4] RRfcgd — TERTET — I
— BWX

T & SAqdyg FIREL B ATEAR
UiTHl °ge % gite. BT Yesl @
yafia feam S ® ¢

[1] Bwhw @
[2] BShw @
[3] Awd

[4] Amw &
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105. Which among the following is the

correct chronological order of

geographers ?

[1] Homer — Thels — Hecateus —

Eratosthenes

[2] Thels — Homer — Hecateus —

Eratosthenes

[3] ' Homer — Thels — Eratosthenes

— Hecateus

[4] Hecateus — Eratosthenes —

Thels — Homer

As per  Koeppen's  Climatic

classification the rain shadow areas of

the Western Ghats are represented by :

[1] Bwhw

[2] BShw

[3] Aw

[4] Amw



107. T% AEH a¥ § AEGE harhamar qen

[

[

PITC/STAAAE BBl & TeH Gl
I FERi R ST Ew E

[1] BreplomeR oE arl
[2] HEHIM B}
[3] STR% &R
[4] g% &R

‘TR g0 i gem © ¢
[1] 3T=e &I

[2] SR YRR &R

[3] =@ &

[4] € BT

dN & Iaad aFa s H

frefofad & @ B FREl Hl A

@1 I e

A. %= A

B. SR

C. UREes AFd

D. it

E. AER-f=m
R ™ g § & W & o5

F :

%< -

[1] A, B,C @ D @& §

[2] ®a@ A, BTN C @& B

[3] A,B,C,D T E@& ¥

[4] %aw@ C, DTl E |l &

Level-3/909
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107.

=
S

=
©

[A]
The relation between human
activities and agricultural/climatic

factors in a seasonal year could be
shown through :

[1] Triangular Diagrame

[2] Cartogram

[3] Ergograph

[4] Hythergraph

'Deccan Trap' is formed through :

[1] Granite

[2]Sandstone

[3] Gniess

[4] Besalt

Which of the following factors were

taken into account in Weber's least
cost theory ?

Raw Material
Market
Transport Cost
Capital

Ethics

m Y0 W

Select the correct answer from the
code given below :

Code :

[1] A, B, Cand D are correct

[2] Only A, B and C are correct
[3] A, B, C,D and E are correct
[4] Only C, D and E are correct

P.T.O.



[A]

110. 3R FREW (30° Yo IARR) ¥ THA

MWER & A & 12 & & a
T X G d S5 a3 gqH M

A9 B ¢

[1] 20° 9o [2] 75° Yo
[3] 60° 9o [4] 105° Yo
GEl-1 &1 GE-11 § e 3 a5

I M HT & I@T HJ g Ga
X A T HR -
Q-1
(STTeicr)

(A) Tl

gEi-11

()
() oI
(B) U418 (i) e oo

(C) T
(D) TR

(iii) A
(iv).feTg
% -

Ay B © @D
(i) () (@)
(i) @) @)
(i) (i) (iv)
iv) @) @)

[1] Gv)
(2] Gv)
[31 (@)
[4] (iii)

Level-3/909

[30]

110. If the time in Cairo (30° E Longitude)

on Sunday is 12 Noon and in Newyork

the time is 5 A. M. The longitude of

Newyork is :
[1] 20° W [2] 75° W
[3] 60°W [4] 105°E

Match List-I with List-II and select
the correct answer using the code

given below :

List-1 List-1I
(Tribe) (State)
(A) Toda (1) Rajasthan
(B) Tharu (i1) Himachal Pradesh

(C) Gaddi (111) Uttaranchal

(D) Garasiya (iv) Tamil Nadu

Code :

A) (B)
[1] Gv) (D)
(2] Gv) (i)
[31 () i)
[4] (i) (@v)

© (D)
i) @
(i) @)
(iii) (iv)
i) @



112. fFr=fatad & & @-a1 gAfea 787
g 7?
YR T Sy T
YREd FHe
[1] &9 25 -
[2] @9 24 -

[3] @9 23 -

SERE

[4] 1T 26 -

113. FERX g § TWEd TG T Sqr
I 8T Fea g ¢

[1] @Y

[2] 99

[3] &

[4] &aT

Level-3/909

[31]

[A]

112. Which one of the following is not

matched correctly ?

United Nations Climate Place

Change Conference

[1] COP 25 - Madrid
[2] COP24 - Katowice
[3] .COP 23 - Bonn

[4] COP 26 - Paris

The  Lacustrine and  Fluvial
depositions in Kashmir Valley are

called as :

[1] Khadar

[2] Chhos

[3] Murg

[4] Karewa



[A] [32]

114. ffofag & § P=-a ﬁﬁﬁﬁ &7 114. Which one of the following is not

T ? matched correctly ?
SAEH A A Producing area Ore

[1] ﬂﬁv‘cﬁlﬂm GIE] [1] Chuquicamata Copper

[2] fRals T dre [2] Krivoy Rog Iron

[3] SRRl S Ueiferad [3] Orinoco Besin Petrolium

[4] AfwETes HITaH [4] Magnitogorsk Cromium
115. UF MR & H96 5 =1 i 2 115. The secale of a map is 5 inches = 1

i 3'@( g & SRS q g 3, @ mile. If we reduce it in half ratio,

a1 R.F. (EIT{S?EE filv_vf) BT then what will be the new R. F.

(Representative Fraction) ?

[1] 1:253474 [1] 1:253474

[2] 5" =2 ¥ [2] 5" =2 Mile

[3] 1:6336 [3] 1:6336

[4] 1:12672 [4] 1:12672

116. T X9 H fhad feis (EF%'CIT) Bld 116. How many links does a Gunter's

g7 chain have ?

[1] 66 [1] 66

[2] 10 [2] 10

[3] 100 [3] 100

[4] 33 [4] 33

Level-3/909



[33] [A]

117. ‘R a9 Ry fRae - 20217 &

117. As per 'India State Forest Report

ATAR 97d & 8 W9 § 360 2021' which state of India has the

AMfae  8I%d & Faies  Ssd

highest percentage of forest cover to

TR & 7 its geographical area ?

[1] STEUIER JasT

[2] FeRH

[3] fafeed

[4] AfTYR

Frefafed & | -8 A, 787 © ¢
[1] Jenes Fgemaed - e

[2] EHadE — @ =

[3] TR AR TRl Fymgar — X

[4] 9a TR — T

Level-3/909

[1] Arunachal Pradesh

[2]° Mizoram

[3] Sikkim

[4] Manipur

118. Which among the following is not

correctly matched ?

[1] Scientific Determinism — Ratzel

[2] Possibilism —Le Pichan

[3] Stop and go

Determinism  — Taylor

[4] Human Ecology — Barrows



[A] [34]

119. 9Rd & fhg 9 & Eﬁ'ﬂﬂ?c' % gaireen 119. In which state of India the highest

qUg rafed § ? reserves of Chromite are located ?
[1] TSI [1] Rajasthan
[2] SIS [2] Chhattisgarh
[3] dGITT [3] Telangana
[4] fesm [4] Odisha
120. ‘Sferenl’ 3 gfoaifed fhar o ¢ 120. 'Zelinsky' propounded :
[1] & Ve fasr [1}° Steady state theory
[2] Sifhn G RS [2] Demographic transitional theory
[3] Aifataer gifsise dteq [3] Mobility transition model
[4] ST SHGET Higd [4] Optimum population model
121. EfifEg & 9 S9-a ol 787 T? 121. Which one of the following is not
matched correctly ?
) Concept Propounder
[1] Pediplanation — King
[1] Sfewrter - T [2] Morphometric
[2] STeRIah! fasersor - U& analysis —  Penck
[3] A oTURET @ - i [3] Geographic cycle
of erosion — Davis
[4] Periglacial cycle
[4] GRREFT TURE o - FhopA
of erosion —  Crickmay

Level-3/909



[35] [A]

122. T TEONE ERAT B 122. 'Hamburg' port is situated on the :
[1] T T8 W [1] Rhine river
[2] ?Rl?s[ T T [2] Danube river
[3] T & W [3] Elbe river
[4] €9 98 ) [4] Siene river
123. U Efd q GRS 123. The transitional stages of sequential
g q
e 3 e TRadw & S H changes, from one vegetation
HeHHOT ST Feadl © community to other vegetation
community are called :
[1] &
[1] Sere
[2] =H g
[2] Climax vegetation
KIRGIREISIE
[3] Synecology
4] 3AEHE
4] [4] Oikos
124. ‘IO T SR B HAAS o 124. 'Frontal  wave  theory'  was
propounded by :
[1] YeEs [1] Petterson
[2] ERfaes [2] Haurwitz
3] SiFd [3] Byers
EARECERIE [4] Bjerknes

Level-3/909 P.T.O.



[A] [36]

125. FEl-I & G-I & e & g 5= 125. Match List-I with List-II and select
R ™ T & I@T F& T W

the correct answer using the code

H T X given below :
Q-1 Q-1 List-1 List-1I
(T qa) (Fe1/3) (Local Winds) (Country/Region)
(A) Sroer (i) To Yo SIEfer (A) Zonda (i) S.E. Australia
(B) Rreit (i) R (B) Gibfi (ii) Guinea coast

(C) &™\eM ESIER
(D) fsb-wieeT  (iv) STAvSHT

(C€) Harmattan  (iii) Libiya

(D) Brick-fielder (iv) Argentina

Zc - Code :
A) B) (©) (D) A) B) (©) @D
[11 G) i) diD)  (iv) [1] @) G) (i) @Gv)
2] Gv) (i) (@) @) 2] v) (i) @) (@)
3] (iv) i) @i () [3] Gv)  Gi) @iD) (@)
[4] av) () (@) () [4] av) () (@) (G
126. 6 UeTEfe® (S| M) GO & 126. The Dry adiabatic Lapse rate
¥ is :

[1] 10°C ¥ 1000 HIeX
[2] 5°C¥idr 1000 HieX

[3] 6.5°C i 1000 HiexX
[4] 9.5°C ¥id 1000 HIeX

Level-3/909

[1] 10°C per 1000 meters
[2] 5°C per 1000 meters
[3] 6.5°C per 1000 meters

[4] 9.5°C per 1000 meters



1217.

W9 & 9T el § fgeg gar g,
5o O O = = e O 1 1 =
g7

[1] 29 =19 & fFEier 2 2
[2] g9 fepariatey
[3] ST SererrEl et

[4] SUFIRT 99T Tiafafe

% dgHISHIE Sarsd &1 90 Fier
q A AR 9T SO S

[1] 2 foit SR a

[2] 5 ft SaE T

[3] 10 5t SR T@

[4] 15 5t SR T%

Level-3/909

[37]

1217.

[A]

When destruction takes place

between two oceanic plates, then
which of following activity does not

happens ?

[1] Island Archs forms

[2] Earthquake activity

[3] ‘Active volcanic activity

[4] Transform fault activity

More than 90 percent of the total
atmospheric water-vapour is found

upto the :

[1] 2 km height

[2] 5 km height

[3] 10 km height

[4] 15 km height



[A]

129. {8 Sfcargal o fasa Sy aviiente

4 quu geifaar oYU’ IYEN
fepar & ?
[1] e
(2] fgamat

3] &g
[4] dfHeae

Freicied &l e & HATER
TR B q A I ™ fE W
SYET A GU F& I B T B

(A) BIfvEA
Y EXISIERE
(ORSIES]

& -

[1] A, B @ C
[2] A,C T B
[3] B,A T C

[4] B,C T A

Level-3/909

[38]

129.

Which climatologist used

'Precipitation effectiveness ratio' in

worlds climatic classification ?
[1] Koeppen
[2] Trewartha
[3] Kendrew

[4] Thornthwaite

Arrange the following in a

chronological order and select the
correct answer using the code given

below :

(A) Hercynian
(B) Caledonian
(C) Alpine
Code :

[1] A,Band C
[2] A,Cand B
[3] B,Aand C

[4] B,Cand A



131. Fr=ifafad & & $F-8 &Idrpia qal
el & feer & ffa 785 ?

[1] qe@Er

[2] e

[3] Rge

[4] T oG AR

132, f=ifafead § #9-9 d% TeErg
qrral & gRads @ § ?

(A) TeRET H AHR
(B) g Rads
(C) gt &1 afEpAT

(D) TR & I
& -

[1] (A), (B), (C) T (D)
[2] (A), (B) T (D)

[3] (A) T (B)

[4] (A), (B) T (O

Level-3/909

[39]

[A]
131. Which one of the following is not a

sea waves depositional landform ?

[1] Sabkha

[2] Tombolo

[3] Spit

[4] Wave-cut platform

132. Which of the following factors

modify oceanic currents ?
(A) Shape of Coastline

(B) Seasonal Variations
(C) Revolution of the earth
(D) Bottom Reliefs

Code :

[1] (A), (B), (C) and (D)
[2] (A), (B) and (D)

[3] (A)and (B)

[4] (A), (B) and (C)



[A]

133.

AR SEE @ T |
Freficied & & %9 @ & S

forar ST ® 7

[1] M:ﬂ 2] M:%
0 A
M -0 OM

3] A= [4] A=
[3] 0 (4] Y

frfafag & @ sH-d1 Tem ya@-RR
% for § gemed FE e § °?

[1] ©=5 g1 IUAT A
[2] STEEEl S

[3] FEOMT 27%o0 8 30%0 B S

[4] G &I

135, N W< SCMYRd i S eq

‘T WA Hehedd a1 drd &
[1] &

[2] X

3] gl focee

[4] ST

Level-3/909

[40]

133.

Which one of the following formula
is used for calculating the optimum

population ?

[1] M:ﬂ 2] M:%
0 A
M -0 oM

3] A== [4] A==
[3] 0 [4] Y

Which. “one of the following
conditions is not suitable for the
growth of coral-reefs ?

[1] Clean and shallow water

[2] Sedimented water

[3] Salinity between 27 %o to 30%o

[4] Oceanic currents

'Hot spot concept' of the origin of

intra plate Volcanoes was given by :
[1] Homes

[2] Kober

[3] Tuzo Wilson

[4] Joly



[41] [A]

136. e § i) q \3§\t{|f\<d Ei C | 136. The reclaimed land from the sea in
FeEd © Netherlands are called as :
[1] |=8vgH [1] Sounds
[2] far [2] Ria
[3] g7 e [3] Young Pitz
[4] dicsd [4] Polders
137. 9 &ﬁ? & faara ° fadg ot /aqg 137. In Von Thunen theory the second
gt & © belt/ring represents :
[1] T8 HET & [1]" Dairy farming
[2] SFEFT & [2] Horticulture
[3] a9 &1 [3] Forest
[4] foega @t & [4] Extensive fields
138. fy=ifaiad & & P9-G1 HIF Tl 78T 138. Which one of the following
T ? statements is not correct ?
[1] 91 eEdRl g™ afeeT Bt 2 [1] All the sedimentary rocks are
horizontal.

[2] Sedimentary rocks have strata.

[2] STaEd el ¥ wWX & B

[3] Sedimentary rocks are usually

[3] @l =g HEETE IUd TRl
4 a2 2

formed in shallow seas.

[4] Sedimentary rocks may be

[4] SEEEl FgH H@Ued Sfer
ST B Fhel Bl

consolidated or unconsolidated.

Level-3/909 P.T.O.



[A]

139.

g asfve = fasa ®1 gawed Si-
AT Jael & et foham o ?

[1] s=go do et 1

[2] o efeirest J

[3] 3o Sifst der & aife A

[4] To Ao gt T Yo WRiY A
U ‘ol =T Heaad ©

[1] B TR

[2] G e Wl R

[3] arg Fffa wempia @

[4] RHFT Tepia &

Uh AR gaE vl e’ 49y
T TERIA # S ©

[1] mPKu &

[2] mTKu &

[3] mPWud

[4] mTWu @

Level-3/909

[42]

139.

Which scientist classified world

firstly in Zoo-Geographical Regions ?
[1] W.T. Neil

[2] P. Darlington

[3] W. George and De Latin

[4] A.R.Wallace and P. Sclater

A 'blind valley' is associated with :

[1] Karst Topography

[2] Sea waves Topography

[3] Wind Topography

[4] Glacial Topography

A 'Maritime polar cold unstable' air
mass is represented as :

[1] mPKu

[2] mTKu

[3] mPWu

[4] mTWu



[43] [A]

142, E??«ﬁ ddg T ﬁ!ﬁﬂq H gET ﬁlﬂiﬁ 142. Amount of Insolation received at
@M ) 100 Hferd Bt & e %Eﬁ T earth's equator is 100 percent and at
IE AR polesitis :
[1] 42 Hfderd [1] 42 Percent
[2] 47 ufasd [2] 47 Percent
[3] 57 g [3] /57 Percent
[4] 32 yfasd [4] 32 Percent

143. fFfafeq & @ @E-AT {ﬁﬁﬁ et 143. Which one of the following is not

87 matched correctly ?

R SdN % e CLET Theory of origin Propounder
of Tides

[1] gge e - A [1] The equilibrium theory ——Newton

[2] T ST A [2] Dynamical theory — Laplace

[3] T T R - dad [3] Progressive wave theory —Whewell

[4] R o Rrema - faforasm [4] Stationary wave theory — — Williams

Level-3/909 P.T.O.



[A] [44]

144. TGN H FrS g‘é«\l GRIICAL S EEINERG] 144. Worlds largest wood pulp and paper
¥ |aifyes SEd o € ¢ producing Country at present is :
[1] sTrefear [1] Australia
(2] s 2] Brazil
[3]1 3 T8 ¢ [3] USA
[4] =4 [4] China

145. RAM STRRT eo-fF ait T 145. A sharp-edged glacially eroded ridge

FHTHh FHoANI & - iscalled as :
[1] i [1] Col
[2] AT N [2] Roche Moutonnee
[3] & [3] Horn
[4] eRd [4] Arete
146. WY TF I FN # Y © 146. Meaning of Slash  and Bumn

agriculture is :

[1] 3@ ?ﬁf [1] Mixed agriculture

[2] ST Sedme fafy [2] Potato production method
[3] IR Y [3] Shifting cultivation

[4] STl T T Bl [4] Deforestation

Level-3/909



[45] [A]

147, éo o gciléf B Hepeuw T THfeed g 147. Hypothesis of E. C. Bullard is
related with the origin of :
[1] 9 & S & [1] Nappe
2] ae & IR @ [2] Fold
[3] R a9t & S | [3] Rift valley
[4] qe™q P I9RT 9 [4] Earthquakes
148. ﬂ?ﬁ'q GehHUl H Bl PEHERA @ 148. Arrange. the polarity reversal ages in
SNGIE FaRgd T q 9w A W™ chronological order and select the
%S @ SYERT 5 7 A< A correct answer using code given
TG B below :
(A) | (A) Gauss
(B) firereré (B) Gillbert
© 3;[3 (C) Brunhes
(D) Afeam™ (D) Matiyama
%c ¢ Code :
[1] D,A,C, B [1] D,A,C,B
[2] B,A,D,C [2] B,A,D,C
3] A,D,C, B [3] A,D,C,B
[4] A,B,C,D [4] A,B,C,D

Level-3/909 P.T.O.



[A] [46]

149. & TEA1 Y & FepeqH Rafa H 149. When the moon is closest to the
AT 8, I8 Rafq wearh © earth, the position is called ?
[1] 8™ [1] Umbra
[2] S=sTan [2] Penumbra
[3] Tdsit [3] Apogee
[4] s (4] Perigee

150. HIOEY w9 (FI%IGR) I 1?3'5[ el 150. The Meandering (wavy) Jet stream is

e called as :

[1] Jest @&y [1] Rossby waves
[2] AR BB [2] Walker cell
[3] B BT [3] Ferral's cell
[4] B=at T [4] Hadley waves

Level-3/909
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R @& @
IR TF F T GHE B X 3§l SR IR T H
Sl

6. Answers

to questions in answer sheet are to be
given by darkening complete circle using Black ball
point pen as shown below :

© @ ® ®

The answer will be treated wrong, if it is marked, as given

below :
0 ® & @

If you fill more than one circle it will be treated as a
wrong answer.

10.

11.

12.

13.

14.

15.

16.

11.
18.

19.

20.

. 9l I 390 OMR I TF T & ik H T IT AFYI

. 6 FE -G § 39 WM & [T & T @i e W 8 #X (Rough work should be done only in the space

provided in the Question Booklet for the same.)

SR | I To@ o W o1 (ThE TYS) BTN
s &1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

. T% 99 & 0 RU U =R fowed § § S fagcg & T OMR ST % W #ad 06 99 & & T TE & a9 @Re 0

¥ T TP IR IX Sifhd B B 9% 39 Sea Tel o Gl ol (Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

orepelt giafe #X 6 59 I T B AT T MW T I W FHE AF NN F_FMC, el ST TS X T A
i wm & sfaRed o= 71 foEh (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhereelse except in the specified space in the
Answer Sheet.)

- T4 I T B ANGEF T B, Fis B A Rk § (I97-gRam o R % § FHE § e @ Rafy
& W) {H’ﬁ g W e Iuee T WI% Wﬁl (Handle the Question Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Question /Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

HQ‘I—W/W =% ¥ R T wEie B Tl 9 ade A ewe) 9 § g (The candidates should write the correct
Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

afl # oen S/ § TR W iR TeuN gd ofoRe Rl ser @ argg-are, gd o swiad s & afr,
JoR, MeEA B, gosli-es SUBT A Rl of J & &/l %l & S a1 IWN HA @ A 7@l 81 (Candidates are
not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic device or
any other material except the Admit Card and Identity Card inside the examination hall/room.)

e B U8 9N W uE ot STl Jas i (A o) iR wgAM U R@M| (Each candidate must show on demand
his/her Admit Card (Roll No.) and identity card to the Invigilator.)

FE e AT THAEE B A OTAN S [T Pl TRl YT WM 7 B! (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PR JHAEE B AT IR T [0 [ T sWER G W ASRT sERR Ry faer erwd) wlen g T8 seh Ak e
el 7 gAY 9R SWER 9 W SWRR e R a1 ¥ A e f 3ER I i e e’ & R T HET &
A AT STCT OMR SR O & Feiia @M W ol ol e o ey & oS & e e S 21 S &
MM 10 999 59 99 W SF @ ] % @ @@ Aer § & 0 A el @Rt B AR T o 959 ot o 9 7 &
¥gd P4l (The candidates should not leave the Examination Hall without handing over their Answer Sheet to the
Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart
second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All
candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which
should be properly inked i.e. they should not be either over inked or dried in nature.)

s%aa’rﬁzs/waﬁa et B SYART afstd %I (Use of Electronic/Manual Calculator is prohibited.)

TR 2 F TR & U, TRl feRlE & & T ukk/Ren-fRw 7 98 & o e @ e @ Ry ee W@ sgRa
et & wf T & daa S » e wd e @ R (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

fepelt e HQ:T-S]:FIEH IR T =% Eﬁg AN T I B (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

TUE qO BN W, TRl F/2 Bled § [ S T H-THAEE B oA A A1 AR A0 6y 39 9e-gRAH B A

S e R (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the
Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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